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WAI-Patient rates psychiatrist gen linear model F=0.2,
df=1, p=0.7
WAI-Psychiatrist rates Patient F=0.1, df=1, p=0.7
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ITP-Patient rates Psychiatrist general linear model F=1.9,
df=1, p=0.2
ITP-Psychiatrist rates Patient F=0.3, df=1, p=0.6
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O WAI-Patient rates
Nurse

B WAI-Nurse rates
Patient

WAI-Patient rates Nurse general linear model F=1.2, df=1, p=0.3

WAI-Nurse rates Patient F=0.6, df=1, p=0.4
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O ITP Patient rates Nurse
B ITP Nurse rates Patient

ITP-Patient rates Nurse general linear model F=1.3, df=1, p=0.3

ITP-Nurse rates Patient F=1.4, df=1, p=0.25




